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QUESTION 1

Which item will be attacked by a DoS attack?
A. Correlation

B. Availability

C. Integrity

D. Confidentiality

Correct Answer: B

QUESTION 2

Drag and drop the QoS features on the left onto the corresponding VolP quality enhancement mechanism on the right.
Not all options will be used.

Select and Place:

Rate Limiting

Correct Answer:
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QUESTION 3

Which are two data plane hardening techniques? (Choose two)
A. Infrastructure ACLs

B. Control Plane Policing

C. Redundant AAA servers

D. Disable unused services

E. Routing protocol authentication

F. SNMPv3

G. Warning banners

Correct Answer: AB

QUESTION 4

A healthcare customer requested that health statistics from their infrastructure devices are to be sent over their service
provider MPLS network. Which protocol must be enabled?

A. SNMPv3

B. Syslog TLS
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C. syslog

D. SNMPv2
E. SSH

Correct Answer: A

QUESTION 5

Which of these is a reason to carry routes that originate outside your network in an EGP, such as BGP, rather than in
your IGP, such as OSPF, EIGRP, or IS-IS?

A. to provide better control over the distribution of the default route inside your network

B. to prevent failures outside your network from impacting your internal network operation
C. to provide faster convergence to destinations outside your network

D. to provide a growth path for the core of your network

Correct Answer: B
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